E 0 & AFHE®E B M A

20172 = =0 & LB A At G E
SH: Aol
Hu: OECA P
CHelr THOETAl JlY RS (B9 ®R)
(o
SA - - ERA(E) - NTAY - BES 0f o il Hl D52
AlBIOHAM & & 2t 39,270,039 38,000,034 1,270,005
= 23,441,856
< 8,097,559
Al 7,730,624
GHT Al PE 2,662,638 2,739,200 A 76,562
S 12,000
Al 2,650,638
SHEEZAl Dlg = 104,500 34,500 70,000
WHO S MIAtEEZAIQIS AL 104,500 34,500 70,000
201 2Bt2 | 76,000 26,000 50,000
01 AtR 22l | 65,000 15,000 50,000
OATAIANG =& 50,000
Og2s & A3 HFHE 15,000
02 3224l 11,000 11,000 0
OATTAl 2 XNBME A= 11,000
202 Ol 5,000 5,000 0
01 S LHOYI 5,000 5,000 0
O=UAETZAl HERD &S 5,000
301 2EtE A= 23,500 3,500 20,000
07 2B =& 0l 20,000 0 20,000
OABI=E 0| 20,000
09 AL HIE A= 3,500 3,500 0
ORI (2RSS IR 2& 3,500
et el MA 2= 2,558,138 2,704,700 A 146,562
S 12,000
Al 2,546,138
CCTV SE2MUE 22 1,401,138 1,019,100 382,038
201 fet23E | 515,600 265,600 250,000
01 AF2 22l bl 15,600 15,600 0
OCCTV SHHEEEX 22F 1,300,000&«12& 15,600
02 3224l 500,000 250,000 250,000
OCCTV SS2HHE HEAL AE= 100,000
OCCTV SE2MHE |FXE=+ 400,000
307 glztol & 595,538 463,500 132,038
05 Bt & =3 595,538 463,500 132,038
OCCTV S g2 HHuE 2LIHE
2,757,120 x18H x12& 595,538
405 At&tFE =H| 290,000 290,000 0
01 AL ESFH SH 290,000 290,000 0
ONRMH % AECIX P& 290,000




S ASIOHE gt
Hu: OGMTA P
ool ordPel MM RS

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| ESEIPN 213,500,000 =14 213,500
O NVRA H 14,000, 000& *5CH 70,000
QU= 2E 6,500,000 = 1CH 6,500
ZHHZ CCTVE X 1,145,000 602,000 543,000
201 L2l 340,000 150,000 190,000
02 =224l 340,000 150,000 190,000
OYYHE CCTV 2223 340,000
[ FSIRe=; 140,000
0=t e23 200,000
401 AIEHI L 20 805,000 452,000 353,000
01 A& HI 805,000 452,000 353,000
ogdE CCTV &Xl 400,000
OsYs &H¥x CCTV AXI(20H ) 50,000
OMMEES SU2 YEE CCTV X 30,000
OX=ES LHE CCTV &AX(7HL) 80,000
P02 340ts &8s CCTV A XI(3MA) 9,000
OF A4X- LHE CCTV &X 236,000
S ROCTV(E X ) 12,000 37,600 25,600
< 12,000
402 RI2FX=01 M 12,000 17,600 A5,600
< 12,000
01 2I2E 2 AL B (KM ) 12,000 17,600 A5,600
OZ=s 45 &8 CCTV £X 4,000
< 4,000
O&sd2s £HOtE &d CCTV £X 4,000
S 4,000
OXES 302 &8 CCTV &X 4,000
< 4,000
Mol 22l MA 2= 35,723,866 32,651,406 3,072,460
= 23,441,856
< 8,085,559
Al 4,196,451
T or & 2t e 35,283,958 32,313,936 2,970,022
= 23,431,914
< 8,061,657
Al 3,790,387
Ji=¢tt? s3sgEde A& 3,828 2,548 1,280
= 1,914
< 957
Al 957
201 LBt2d| 3,828 2,548 1,280
= 1,914
= 957
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L= B

el

ARl oHE e et

Mo 22l MA 2=
THLHOFA 2t

ol

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

201 Lt

Mo
02

s

H

Al

14,400

2,700
11,700

,300

02

0K
Ho
02

©
pea}
o
0z
%—izEE
m
0
o
HE
oo
pa
{0

Al

9,400
9,400

2,700
6,700

5,000
5,000

,300

9,400

1,700

H

Al

30,000

15,000
15,000

20,

000

10,000

307 glz2tol ™

t

Al

30,000

15,000
156,000

20,

000

10,000

(e)
(e))
HI
1]
]

©
of
1
ol
o
o
=
R

= M

30,000

30,000

15,000
15,000

20,

000

10,000

Mol eI & XISl (01=2)

= M W

2,355,000
1,500,000
600,000
255,000

10,900,

000

A 8,545,000

401 AIEHIZ 2 HYI

= M W

2,355,000
1,500,000

600,000
255,000

10,900,

000

A 8,545,000

01 A€ dl
OMHASE XA HHI(02)

02 2teltl
OMaH?IE XA HEl(H2)

= N W

Mo

2,005,000
2,005,000

1,250,000
500,000
255,000

350,000
350,000

250,000
100,000

10,875,

000

A 8,870,000

350,000

Wl eI & XA FHH (M)

= Hn

6,243,000
3,500,000
1,400,000
1,343,000

5,630,

000

613,000

401 AIEHIZ 2 THYI

= 0N W

6,243,000
3,500,000
1,400,000
1,343,000
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000

613,000

01 A€ dl
OMMASE XS FHI(&IIS)

5,893,000
5,893,000

5,620,

000

273,000
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x 5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2

= 3,250,000
< 1,300,000
Al 1,343,000

02 Zteltl 350,000 0 350,000
OMoiIEX Y FEI(&IS) 350,000
=2 250,000
< 100,000

oIS XS HbBI(0FH) 6,866,000 10,000, 000 23,134,000
= 4,339,000
< 1,735,000
Al 792,000

401 Al BIZ 2018 6,866,000 10,000, 000 A 3,134,000
= 4,339,000
< 1,735,000
Al 792,000

01 A& HI 6,516,000 9,775,000 A 3,259,000
OMMHMLAE XS HHl(0FH) 6,516,000
= 4,089,000
< 1,635,000
Al 792,000

02 Zeltl 350,000 200,000 150,000
OMoLAE XS HbBI(0FH) 350,000
= 250,000
< 100,000

LEMIANLEIN(EFE) 6,123,000 2,800,000 3,323,000
= 4,325,000
< 1,298,000
Al 500,000

401 A& BIZ 201 8] 6,123,000 2,800,000 3,323,000
= 4,325,000
< 1,298,000
Al 500,000

01 A& HI 5,798,000 2,290,000 3,508,000
LLEMIANE SX(HF=x) 5,798,000
= 4,075,000
< 1,223,000
Al 500,000

02 Zeltl 325,000 500,000 A 175,000
ORX*=MFBAE HX(HF=x) 325,000
= 250,000
= 75,000

LE=MIANLEEX(0HSH) 7,520,000 2,800,000 4,720,000
= 5,400,000
< 1,620,000
Al 500,000

401 A& BIZ 201 8] 7,520,000 2,800,000 4,720,000
= 5,400,000
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THLHOFA 2t

ol

- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
== 1,620,000
Al 500,000
01 Al&H| 7,195,000 2,290,000 4,905,000
ORXLMNFBALE EX(0HaH) 7,195,000
= 5,150,000
= 1,545,000
Al 500,000
02 2teld| 325,000 500,000 A 175,000
ORE=MFI ALY X (0HE) 325,000
= 250,000
& 75,000
Helol=0lAlE AQIE OHE U AIAE 75,590 0 75,590
201 LBt 9| 75,590 0 75,590
01 AP 22| H| 75,590 0 75,590
OADIE CHMAARIAIAE (QR)ZE ZR278 22,000
OMRIZE M Zd| (81200 &) 53,590
LEMFANE EXN(SEIXFR) 5,156,000 0 5,156,000
= 3,966,000
= 1,190,000
401 AlEHIZL 201 Y| 5,156,000 0 5,156,000
= 3,966,000
= 1,190,000
01 Al&H| 4,636,000 0 4,636,000
OLRLEMEBAY AX(SHIXR) 4,636,000
= 3,566,000
& 1,070,000
02 2elbl 520,000 0 520,000
OLRLMBAL HX(SHINT) 520,000
= 400,000
= 120,000
MolAE XS HUI(SHAKX =) 800,000 0 800,000
= 400,000
o= 200,000
Al 200,000
401 A& HI L 204 HI 800,000 0 800,000
= 400,000
o= 200,000
Al 200,000
01 Al&H| 748,000 0 748,000
OMHASE XA HH (23 AKX &=21) 748,000
= 375,000
& 187,500
Al 185,500
02 2eldl 50,000 0 50,000
OMMHAS XS U (SZAX &=21) 50,000
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X ZH -
L= B

el

el MA 2=

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
oetE xR 2A = 7,950
= 2,385
= 1,669
Al 3,896
OX& oIt =4 2,676
= 803
& 562
Al 1,311
0018 SgEa AAl 652
= 652
oletWME2HHI(ZH|) 15,600 0 15,600
& 4,680
Al 10,920
301 et A= 13,800 0 13,800
& 4,140
Al 9,660
11 J|EtE A2 13,800 0 13,800
OoIgAnNE AJ| LAY 13,800
= 4,140
Al 9,660
405 Ko SHI 1,800 0 1,800
o= 540
Al 1,260
01 XML 2 FF S| 1,800 0 1,800
oA NEEA I &= 1,800
& 540
Al 1,260
EPNRSE=EN| 3,500 3,500 0
201 LBt Y| 3,500 3,500 0
03 A2 HH| 3,500 3,500 0
O=EEZ2 H& ¥ 232X 3,500
A 2222 B2 & 196,390 166,952 29,438
301 et A= 196,390 166,952 29,438
0B AISIE22IIL A= 196,390 166,952 29,438
o= 177, 100& 452 < 12& 95,634
O =AlH| 6,000 *45 21 x12& 68,040
(@ImE==Xsl| 2,400 *45H x212 x 12& 27,216
(@pIE==1s] 100,000 x45H 4,500
O24X=Hdl 1,000
HHlzZ2 s4aX 145,000 120,000 25,000
308 MXISHHMSOIA 65,000 40,000 25,000
ot ZE&dXdINES 65,000 40,000 25,000
oMbzl SHEXE L XNAHAIRA 65,000




S AlQloHE S g Rt

M THLEGH 22 MAHA 25
Sl plEreRe CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
403 XX SHHS K20 & 80,000 80,000 0
O3 MHZEALANINESEX 80,000 80,000 0
OFYNH BAXNH S 80,000
018t HAEAIADA 8440 A 8,000 0 8,000
= 2,400
= 2,400
Al 3,200
401 AlEHIZL 2 0HY| 8,000 0 8,000
= 2,400
= 2,400
Al 3,200
01 Al&H| 8,000 0 8,000
O0YAIEEANE =440 WA 8,000
= 2,400
= 2,400
Al 3,200
THUOHE (HE) BSAIE S 40,000 0 40,000
= 12,000
Al 28,000
401 Al HI L 2 0HHI 40,000 0 40,000
= 12,000
Al 28,000
01 A& H| 40,000 0 40,000
OMLHOE HE BIEAIAE 2= 40,000
= 12,000
Al 28,000
M2 AH|(AlCIOHA S S ) 193,847 97,000 96,847
PleA2HY| (Al BIOHM STk 2t) 106,271 0 106,271
Claa2HY| (AlQIOHM SHEht) 106,271 0 106,271
101 e1214| 106,271 0 106,271
01 2 106,271 0 106,271
OAZtAZ224E 106,271
@62 10,682& x5 x50A| 2t*x12& 32,046
@o/= 9,649 xQH x50 2+ x 12 52,105
082 8,663 *x3H x50A| 2+ 12E 15,594
[ = 7,830% 1 «50A| 2tx12& 4,698
@ X 2K & HJ 104,442 ,000%1.75% 1,828
JI 223 H|(AlQoHM SHE ) 87,576 97,000 N9,424
Dl 22| (Al QoM SHEt ) 87,576 97,000 N9, 424
201 LBt Y| 56,376 62,800 NG,424
01 AP 22| d| 31,376 37,800 ANB,424
O Ybt4=24| 18,100




S AlQloHE S g Rt

o
o #y2YAY
2l (Al

SAH-EB .S (3H) - HEAY - BE2 il HDS2

OZ2 &l 10,576
O2X -2 - 3= 2,700

02 3524l 25,000 25,000 0
o222 ¢ 25,000

202 04| 27,000 30,000 A 3,000

01 2LHOHI 27,000 30,000 A 3,000
URFA(BNBS) 27,000

203 € R =&lY| 4,200 4,200 0

04 EANSIER= 4,200 4,200 0
ORN2I9IR 350,000& x12& 4,200

L OTH ol g 674,000 2,500,000 A 1,826,000

LHEHeH XIS (Al R OHE & S 674,000 2,500,000 21,826,000

Mueze|dl2 X3 674,000 2,500,000 21,826,000

7020|128 E2 674,000 2,500,000 A 1,826,000

M JI=d&E2 674,000 2,500,000 21,826,000
©2017E& THtate 674,000

S (AlDIOHA SHEH 2 15,688 12,428 3,260

HEHAHXES (HA 2% 15,688 12,428 3,260

HEIEZ2E Ald2 15,688 12,428 3,260

39 ME= 15,688 12,428 3,260

01 SAt- SEHZ A 15,688 12,428 3,260
oHdE+2H 15,688




